Answer Sheet No. &(\ l/\

Sig. of Candidate. ' Sig. of Invigilator.
............................................................. M ATHEMATlC‘SSC-|
(For Hearing Impaired Children)
SECTION — A (Jarks 15)

Time allowed: 20 Minutes

NOTE:- Section-A Is compulsory. All paris of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes amd handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C / D. Each part carries one mark.

(i) AB stands for:
A AB B. AB C. AB D. mAB
(i) The angles of measure 50° and 130° are calied @8 ___ angles.
A. Complementary B. Supplementary
C. Collinear D. Non-collinear
1 0
(i) [0 J =
A Single matrix  B. Zero matrix C. Diagonal matrix D Unit matrix
(iv) (@a+bY =
A at—b*-2ab B.  a’-b’+ab C. a’ +b*+2ab D. a’ +b*—2ab
(V) (2—4)3 —
-1
A. 22 B. 2 C. 2 D. 212
(vi) (I+my(l-m)=
A. 1> +m*-2Im B. *+m*+2im C. I -m? D. P +m
(vii) If 4, B and C are three matrices and they are conformable for multiplication then A(BC)=
A. AB B. (AB)YC C. (ACYB D. BC
(viil  The base of common logarithm is:
A 2 B. e C. 1 D. 10
(ix) 4x5° =
A 20 B. 200 C. 4 D. 0
3\2
0 Lo
(x%)
A. 0 B. 1 C. x* D. x"
(i) ~5(=12)’ =
A 720 B. 3600 (o -720 D. —-60

f4
(xii) Exponential form of 41—5 is:
1 1 -4
2 4
P . B — c. & D. [ij
15 15 15 15
(xiii)  Radicand of z,Sxyz is:
rs

AT 8 1 c. X o
7 rs rs
3
(xiv) (-5— =
7
A —22 B. 1%2 C. E D. 35
49 343 25
(xv) I x+y=2 and xy =3 then find x* + )’
A 4 B. ~2 C. 4 D. 2
For Examiner’s use only:
Total Marks: |5
Marks Obtained:
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MATHEMATICS SSC-I
(For Hearing lmpaired Children)

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Attempt any twelve parts from Section ‘B’ and any Me guestions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION-B 36
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
(i) Simplify v64x*
(i) Rewrite the algebraic Expression in descending order w.r.t the variable involved
2y° ——5+4y4 +y° +3y2

(iii) Rationalize the denominator in !

\/5 +2

1

v) IfP(x)=x —3x+5. , find the value of P(x) when x =2
(v) Find base and exponent of. —1 sa®
(vi) Add & —2a*b+b° | 4d’ +2ab? +6a’h |, 2b* -5a° — 4a°b
(vi)  Rewrite the following in exponential form (—a)x(—a)x(—a)x(-a)

(vii)  Factorize ab(x’ +1)+ x(a’ +5b%)

2 -2
(ix) Simplify and write the answer in positive exponems (—_)E—Z(—)—)—
(x) Use remainder theorem to find the remainder when x° +6x”> —11x + 8 is divided by x+1

(xi) Define an angle.

(xii)  Factorize x* + 643"
10 2 3
(i) 1A= and B= then find A+ B
0 2 4 5

V3
5

(xiv) What is additive inverse of —

{xv) Find index of ? }l§
17

(xv)  Find the value of @’ +b° ,when a+b=4 and ab=3

(xvii) Factorize z° +125

3 =2 1 0 _
(xvii) If B= and C = then find BC
-1 4 2 3

SECTION — C (Marks 34)
Note: Attempt any THREE questions. All questions carry equal marks. (3x8=24)

Q.3 Construct triangle ABC when, mAB=4.3cm , mZB=30" and mZA=75°
Q.4 Construct an angle of 115° and dissect it.

Q.5 Factorize z*' —z° +16

64a°b°
Q.6 Simpl 13/____
Pty S 16cd
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| 2 3 10

A+ B Bl A (i)

lg VY
1

o L o
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